Hexagon (WeYyv):

Area = 6 xl\/_ 2)
AR

Peri.= 6a

Dia. = \/§a,2a




Hexagon Area Division (YSHS &7 &% d faHTE):




Hexagon Area Division (Y&Y &T &% d faHTeH):




|]. The area of a regular hexagon
of side 2v/3 cm is
2v/3 cm SJGIT ad §H
YeHIUT FT SFF TaT FI

a)3v3 b) 63
6 / ﬁ xy(x 2 c)12v3 _4f18V3
g
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/gX%/x 36

P Q 2.In the given figure, ABCDEF is a
regular hexgon whose side is 6 cm.
APF, QAB, DCR and DES are
equilateral triangles. What is the
area (in cm?) of the shaded
6 region?
& a§ efa A, ABCDEF &
qH g ¥ radh ST 6 cm B
S APF, QAB DCR d41 DES '\'THiI'I?
ﬁraﬁr 3| roIfed T T AT
S . (cm2 JET) FT 87
a) 233 b) 183
A723 d) 36v3

| SSCCGL T2, 17 feb 2018 | 6



12 c 3. In the given figure, ABCDEF
is a regular hexagon whose

side is 12cm. What is the

shaded area (in cm?)?

ar a5 rHfa A, ABCDEF
Www%ﬁma?r

AT 12 cm %:l NToIfed HIT
FT QTG (cm? ®) F41 87
A54v3 b) 36v3

c) 48V3 d) 523

| SSCCGL T2, 9 mar, 2018 | 7



Y.An equilateral triangle of sides 6

cm has its corner cut off to form

a regular hexagon. Area of this
gg;#ar hexagon will be

6 cm ST dredl GH

Tqer & el #1 3W TER

Fel T & F ¥ v WA

YCHIUT § AT ST YTHIOT

T &F%el IdT Y|
a) 93 b) 54+/3
V3 gf6V3

| SSCGD 17 Jan 2023 S4 | 8



5. An equilateral triangle has area
300cm?. Its corners are cut off to
from a regular hexagon. Area of
hexagon is what percent of the area of

/N
AVA triangle?

meﬁmﬁmm
ST ¥| WeHS F AABd e

’e\ 6 BB F1 Fhae gfaera 32
— — =2 _A66.66% b) 33.33%
A 9 3 c) 83.33% d) 56.41%

SSCCGL T2 19 Feb 2018 9



C 6.In the given figure ABC is a
triangle in which CDEFG is a
pentagon. AADE and ABFG are
equilateral triangles each with
side 2 cm and EF =2cm. Find the
area of the pentagon:

ar 7§ IMHfa A ABC UH
frsr & 3R cDEFG TE
tﬁraﬁr g AADE 3R A BFG
HAGTE forer & et somd
2cm°%'3ﬁTEF2cm%WﬂGl'

FT STAB ddTY]
a) 8V3cm ,ﬂ 7\/3cm?
c) 15v/3cm? d) 11.28cm?

|



7.ABCDEF is a regular hexagon

E D whose area is 180cm?. Find
;6 ‘7 the area of shaded region? y
ABCDEF U Wﬁ
S '\ c s 8F%a 180cm? 2
© SHIfhd $FT &1 &aA%d
AT FI?
a) 9cm? 10cm?
c) 12cm? d)15cm?




A 2. In the given figure, ABCDEF
is a regular hexagon. Find
£ F l \ B the ratio of shaded area to
\ ( unshaded area?
| %o }’ ‘{ ﬁ'lf T o A, ABCD%_I;
-~ HA  YCHT
3 : £ W c fmnm AR AW smr &

aﬁmmmm

FoE | FI?
Wx%—_ghao(wl * %51 b)%l
3 F )1z A3
uhw\ | _ Sk b‘ —)(Z,.
ly == 2aded A,
TR ‘ d
N heg € ‘3 .

| | 12



9. In the given figure, ABCDEF is
a regular hexagon, and all the
possible diagonals are drawn.
What percent of the area of
the hexagon is shaded?
ar 1§ IrHfa A, ABCDEF
U §H Yoo @, oA
it wafRa fRwor diw
few v @ wesrsr F1 e
yfaerd &9%d oiiehd g2

/S’ 16.66% b)33.33%
c) 25% d) 20%




P 0. In the given figure, PQRSTU
is a regular hexagon of side 12
cm. What is the area (in cm?)
of triangle SQU?
&t 1§ rHfa A, PQRSTU
T R TH maﬁr ¢ forar egam
12cm & ﬁraﬁr sQu @
S AT (cm? ¥ ) T 87
J—B x.l.g.x'z,(g a)162v3 b) 2163
U A108V3 d)54v3

U 12J% Q

SSCCGL T2 19 Feb 2018 14



II. In the given figure, ABCDEF is a

— regular hexagon of side 12cm P, Q
m / \ Q and R are the mid points of the
R . .

sides AB, CD and EF respectively.

N What is the area (in cm?) of
F Y C triangle PQR?
\3 d&r I$ 3mefa #, ABCDEF T&H
Iz qA q'caﬁr'% S ST 12cm
§ %29 3| P, Q TUTR FA: 3-]G|T3ﬁAB
Dyl A P B CD @UT EF ¥ AT
/le\ f3rer PQR #T 8w (cm :ﬁr)
FIT &7
a) 276 813
c) 5443 d) 54/6

| SSCCGL T2 18 Feb 2018 | 15



E E
K/ ¢ F an
L
AA
A O B A o

J3 ¢ o
Avaa 31 ¢

2. In the given figure there are

two congruent regular
hexagons each with side 6cm.
What is the ratio of area of
ABDF and APQR, if P, Q and
R are the mid-points of side
AF, BC and DE?

a w7 Ipfa A Q
HAPEA  HAYCHIUT ¢
S A 6 cm fr & at
ABDF 3R APQR & &yawer
I 3JUld ddIT, I P, Q
ﬁTR;;lT%AF BC 3T DE &

?

a) 6:5 b) 7:6

/}’ 4:3 d) 1:1

|



I%. The perimeters of a square and

a regular hexagon are equal.

The ratio of the area of the

hexagon to the area of the

M(4,6)-2 ‘ square is

Leml- % & v @ 3R wF wH wewr
& IRAT WS §| TeHioT

I T F aFwaAl @

2

e[ FIT gHM?
’p\ :ﬁx‘@x}‘/ V3:3 b)v3:1
S A xS c) 3v3: 2 d)v2:3




I4y. An equilateral triangle and a

regular hexagon have equal

perimeters. If the area of the

triangle is 16 cm?, then the
' area of the hexagon is

F §H Be AR wE ww

. YCHUT F IRATT W& §]
2 * I PBHT F1 9%

l:%x%’ 16 16cm? § @ weRwr &

&% IdT A

/p) gxg’” 3 — 7 a) 16cm? 24 cm?

' c) 32 cm? d) 27 cm?




I15. The area of a regular hexagon is

g__m O m é[g eq:al to the I::\rea of the s;qua:‘e.
What i t ti t
3 | | Yo at is the ratio o e

perimeter of the regular hexagon

to the perimeter of square?
f 7/[‘ A qzaﬁr HT &A% T &
J2

ATHT & T g §A wSHA
& IRAT FT aF F IRAT @
FAT T 87

H/6V3: V36 %

Wiz
J6v3: 23 K>

| SSCCGL T2 18 Feb 2018 | 19



16. A square and a regular hexagon

, are drawn such that all the
/ \ vertices of the square and the
/b ' hexagon are on a circle of radius r

cm. The ratio of area of the

g} square and the hexagon is
| & T3 IR T ;m YT 39

WW;E ﬁn‘rﬁ;ﬁﬂ;
Yl & e r @.
%/ex@_%/é. Lq,;a Bear a g9 W ¥ | at sk
I . k" veIe & HT AT
L qAIST ?
a)3:4 4:3V/3

c)V2:3 d)1:v2

| SSCCGL T2 1 Dec 2016 | 20



Area = 8 X1 xldv, I

—_—

2 %2 2
Peri.=8x10=20 ¢
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